
TECHNICAL DIAGRAM
OLIVE HARVESTER
X.QUATTRO CF
MODEL TYPE: 3010
rev.13

41

2

42

1

7
4

6

28

34

37

9 11

47
36

22

32

35

46

12

38

13
14
15
16
17
18

13

5

19

20

22

33

43

21

8

44

45

10

26
25

23

27

24 30

6

29

40

31

39

49

48



www.agrotechnic.com
online catalogue and ordering at:

SPARE PARTS LIST -  X.QUATTRO CF MODEL: TYPE 3010 DIAGRAM REV.1

Head Cover rear

Head Cover front

Shaft  w. Pinion gear N12  set Mk2

Crown Gear N20  with 8mm shaft 

Ball Bearing 608zz

Slotted Pin HD 3x16mm

Shaft 8mm w. Crown gear N20 set

Ball Bearing 6800zz

X. Quattro Mechanism set

Semisphere Carbon

Carbon Stick

Self Lock Nut M7

Slotted Pin 3x18mm

Coupler for Head D10

Internal Transmission Shaft 2.0m

Retaining Spring Clip 10mm

Roller Guide D10

Coupler for Motor D10

Internal Transmission Shaft 2.0m set

Carbon Fiber Tube Ø29 2,0Μ

Screw 3x10mm

Plastic Screw Torx 4x16

Ball bearing F698zz

Retaining ring for bearing F698zz

Ball Bearing 608zz

Ball Bearing 687zz

Satellite Gear N21

Locking washer Ø6mm

Motor Gearbox Gear N54 mk2

Reducer System w.sat gears Ν21 mk2

Rotor Gear N12

Tube Clamp D29 with pin

Brushholder Cover

Carbon Brush

Motor Housing front

On-Off Switch 30A

Fan of motor mk2 

Magnet mk2

Carbon brush holder

Rotor System 12VDC mk2

Motor Housing rear

Cable Gland with Spiral

Cable Cover

Slide Type Terminal

Y Type Terminal

Cable 14m set

Fuse 30A

Battery Kit Set

X.Quattro Sphere

1

1

1

1

2

2

1

8

2

4

32

2

2

1

1

10

5

1

1

1

2

17

1

1

1

3

3

3

1

1

1

1

2

2

1

1

1

1

2

1

1

1

1

2

2

1

1

1

2

With gear, b.bearings, eccentric ends

With shaft 8mm / No bearings - No pin

For 8mm head shaft

Heavy Duty 3x16mm

Set with Gear, bearings, pin

For x.quattro mechanism

Includes 4 ball bearings

1 Semisphere with 8 sticks

Snap-lock replaceable

3x18mm

Head gearbox side, (grey colour)

Without couplers, rollers, clips

Motor side ( black colour)

Set with couplers, rollers

For tube head assembly

For case of head, motor and cable

With flange

V.2  for flange bearing 698zz

For gearbox shaft

For planetary gears

For motor gearbox

For satellite gears, 6mm

Internal gear

For Mk2 motor

For Rotor 12VDC

With locking pin

For Mk2 motor

With cable and terminal

Set rotor w. gear and fan, bearings

Includes nut

For cable attachment

For on-off switch 

For cable - battery kit

With Y and  slide type terminals

For battery kit

2 clips, fuse holder, fuse

With semisheres, mechanism, bearings

4054

4055

4118

4119

4058

4059

4120

4061

4062

4063

4064

4065

4066

4067

4068

4171

4070

4071

4072

4073

4089

4075

4172

4173

4058

4094

4095

4096

4185

4186

4102

4187

4109

4108

4188

4083

4191

4192

4193

4194

4189

4081

4195

4090

4091

4087

4086

4088

4115

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

Item No. Part No. # in model NotesDescription


